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1/
Max Z = 10x; + 30x,
3x1 +2x, <6
6x; +1x, < 4
X1,%X2 =0
2/

Max Z = 180x; + 400x,
2x1 + 5x, < 160
4x, + 6x, = 240
X1,X2 =0
3/

Max Z = 15x; + 12x,
3x; + 6x, < 54
6x1 + 3x, < 48
9x1 +9x, <90
X1,X2 =0
4/

Max Z = 50x; + 20x,
4x, + 8x, < 800
100x; + 50x, < 8000
x1 < 60
X1,X2 =0

29

5/

Min Z = 10x4 + 12x,
20x; + 10x, = 100
10x; + 10x, = 80

X, =4
x1 =0
6/

Min Z = 30x4 + 100x,
8x; +40x, < 80
X1 =3
Xy, <5
x, =0
7/

Min Z = 3x; + 5x,
20x; + 10x, = 200
x1 +4x, < 20
X1 +x, =16
X1,X3 =0
8/

Max Z = 15x; + 25x,
X1 <5
x, <10
X1+ 2x, =10
xX1,%X =0



